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PART -1 (i) (General Studies)
(ii) (General Knowledge of State)
9T - I (i) (S NET+)
(ii) T=T &1 FHH §/H

The ;;(')III'L‘l"‘Q of Indian history are — L. : I<TE % G % i
(A) Archeological remains (A) guzui S (g{lilfi ¥)
(B) Literatures (B) |iiecd
(C) folk cultures (C) ek Tl
(D) Allofthese D) Tt
At which place Chandragupta Maurya spent 2. ThE M W TR AF J 3mq e o 3ifar
Jast days of his life ? 2 =eia fRd 9
(A) Pataliputra (A) q-lzﬁng
(B) Sravanbelgola (B) U
(C) Vaishali (C) et
(D) Vidisha (D) fafem
The Quit India Movement was launched by 3. frefoRea # & frah smawd 8H W 1942 )
Gandhiji in 1942 after the failure of which of T ¥ R DS e w g R
the following ? '
a1 7
(A)  SimonCommission (A) T e
(B) Cabinet Mission B) W frm
(C) Round Table Conference (©) o T
(D) Cripps Mission (D) e i
At which of the following place Chandra 4. 1931 ¥ 9u8 w4 w frefofaa § @ frg wm

Shekhar Azad was shot dead while fighting in
19317

(A) Allahabad

W AR G el ARG e R
HE R

(A) TR
(B) Patna B) e
(0) Lahore (C) AER
(D) Calcutta (D) hefehTll
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In Which of the following field the Mughals
contributed to Indian culture ?

Preforf & vt a1 1 el e wE
A GrreE fea 9

(A) Music (A) afia
(B) Painting B) Temrpen
(C)  Architecture (C) - Iy
(D) Alltheabove (D) TRS

Who of the following was the author of
'Ain - i- Akbari'?

(A) Faiz

(B) AbdulRahim

(C) Nizamuddin

(D) AbulFazl

Fill in the blank — _

The form of numerals to be used for the official

purposes of the Union shall be the of
Indian Numerals.

(A) International form
(B) Indianform

(C) Vikramiform
(D) Shakaform

Which of the following expenditure is charged
on the consolidated fund ?

(1) - Emoluments and allowances of President

(i)  Salary and allowances of Vice President
(i)  Salary and allowances of Judges

(iv)  Salary and allowances of Attorney
General

(v) Salary and allowances of Controller and
Auditor General

A O (i) (1)
®B) O m W)
< O v O
D) (@ ) O

frafafen 7 @ #F EA-T-aa w1 oEs
a7

(A) Tl

B) g

(©)  frmgd

(D) Tttt

foes e 1 o IR
T ey

W WY GRAT SR B B |

(A) FRIEE ¥

(B) HRAE &9

(C) Tzt &

(D) & &Y
ﬁwﬁﬁﬁmmnﬁaﬁfﬁmm&a@m
27

(@) Twufa B SuefREr o

() SU-APAT H IqT IR T

(i) =Tl o 9ad SR w7

(v) HEFIRETE! T e SRR

(v) T mecreders o 3 3l
A O (i) (i)

® o (i) V)
< o )y v

O @ . O
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9.  Match the following - 9. gAfed Il :

(i) Third Schedule (a) Provisionsasto the G ol 3@@ (a) a@qﬁlﬁ &5 R
administration and argfm SRl
control of schedule 3 an & Syay

reas and schedul
e i G) g TGN (b) AT &

(i) Fourth Schedule (b) Provisions as to the o _E % AR A
administration of L CL
tribal areas (i) q%m aga;ﬁ (c) MUY hl U

(i) Fifth Schedule (c) Forms of oaths (v) SH SEE  (d) TSE A W

(iv) SixthSchedule (d) Allocation of seats in & AEEA
Rajya Sabha @ ®) © @

’ 1 ®) @ vy @@ o

® @ @ 0 s -
C .
© @ @ O @ (O @8 G, 1D

®) v, (i) (iD) G) O G @ @
10. What is the objective of Lok Suraj Abhlyan 9 10. <l GUS AEH H e 8 7

(A) Implementation of state policy A) TH e =1 R

(B) To complete the incomplete works B) I It el gl e

(C) Resolvethe Public problems (C) ST T R

(D) To give the benefit of state Govt.'s D) T TEFR £ et At ai Aree
policies, programmes and plans to the : S e
actual beneficiaries . I 61 T FA

11. 'What is /are the function(s) of Incharge 11. oy wesf-forert % el Fn e
minister of District ? G Frem HET T ST
()  Monitoring of development works () T TenaT SR RO A

G) To co-ordinate between the Panchayat

Raj Institutions and Municipalities : N

(i) To co-ordinate between the District (i)  Torer eI R e A % Wl FEE
Administration and State Government (iv) Herereri ATl ol ARl

(iv) Transfer of College Professors n ]

@ 0 o e,

B @ (i) B O (ii) |

o O (1) (i) © O (i) (i)

® O (1) i @) O O (1) i W)

& F1 % Tl w918 / SPACE FOR ROUGH WORK
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Match the following — 12.

12. - gAfd g —
() WomenandChildren (i) Reservation () Hen @A () IARET Al
Development Department ~ Policy ferrer fersmn
(b) General Administration (i) Rajeev Gandhi - (b) TR IR (i) TS e
Department ShikshaMission . e
(¢) Co-operation (i) National Materity (c) TeHe Fwr (i) TS A oY
Department Benefit Plan ST
(d) School Education - (iv) Toestablisha (d) v fuem fovm (iv) el # wigen e
Department Mahila Nagrik & I T
Bank inthe (a) (b) (© (d)
District

13.

14.

15.

@ O © (d)
A @ @ O (1)
® @ O (iv) (1)
© ® @ @ ®
GO @ @ & O
Where is Sepet located in this State ?

(A) Rajnandgaon 13-

(B) Raipur

(C) Durg

(D) Bilaspur

With the help of which country Iron and Steel Plant

was setup in Raurkela ? 14.

(A) England
(B) - France
(C) Germany
(D) USSR

As per 2011 Census, there about Tehsils in

India. , 15.

(A) 75000

(B) 5000 - 6000

(C) 76000

(D) None of the above

@ @ @ o (i)

® @ O @ (@)
© @ @ @ ®

O G @ () @
[T e wel fRE g 9

(A) T '
B) WL

() 7t

D) foremag

TSThell # o 91 % WedT ¥ i W@ S
HREMT AT 747 &7 7

A Feg

(B) wH

(C)

(D) q\o@oq{?oaq'r{o
20112%rww%ﬁagaﬂwﬁww
qEfe B 7

(A) 75000

B) 5000 - 6000

© 76000
(D) Sve A q =
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aifereTR : ﬁﬁﬁ@éqﬁmﬁmw'—

- 16.  What is the name of Alrstrlp in the dlstrxct 16.

Ambikapur ? A) 3
(A) Dhamal
(B) Daria ®) e
(©) Dogi (C)—3rit
@) Dildili . (D) Tesfeet

17.  Which is the biggest salt lake in India ? 17. WA 9 G 7E Fohe she aa-g R
(A) Kolar | (A) FH
(B) Chilka ®) foen
(C) Krishnaraj Sagar (C) FURS AR
(D) Nagarjuna Sagar (D) A EFR

18.  Bombay High is famous for— 18. R e fros A ufig R 7
(A) Shipindustry (A TeEEEm
(B) Mineraloil (B) Wi e
(C) World Trade () T =R

(D) Touism D) W

19. Why multipurpose River Valley Project is 19. agaiwﬁu Tcﬁ iét e e R
constructed ? FET 7
(A) To produce electricity . (A) ﬁ@ Iaqred & g
(B) Todevelop canal's irrigation @) & A R A Rl w1 % fomw
(C) Todevelop tourism (C) e T a6 fom
(D) Allof the above @) IR wh |

20. Onwhichriver leakund dam mconstructed in 20, WRdH @1‘@03 arer forg ) o Tl R
India ? ' % 7
(A) Sutlej. (A) TEeR
(B) Godavari (B) "ﬁaﬁﬁ :
(C) Mahanadi (C) WEHdl
(D) None of the above ) dm R A

T M % ford 91g / SPACE FOR ROUGH WORK
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21.  How many industries are required compulsory ~ 21. 31 guR % 3t=ila Wi § fra ganit &
licensing under economic reforms in India ? o et et v w1 e S )
(A) 03 _ A) 03
(B) 05 = Br—05
(€) 07 (C) 07
(D) None of the above @) S A A HE T
22.  'Which is commercia] crop of the following ? 22, ot et 7 A - P A R )
(A) Wheat (A) ﬁg\
(B) Maize (B) W
(C) Cotton (C) wu™
(D) Jowar D) TR
23.  Whichisknown as Heavy and Basic Industry ~ 23.  WRd # TRl "I} O ST SeF1 SHAT S @ 7
~ inIndia? '
(A) Textile Industry W, o
(B)  Sugar Industry ®) = S
(C) Jute Industry (C) g Em
(D) Iron and Steel Industry (D) Wig Td T S
24‘. Agriculture and allied sector contribute 24, HY 3R W & 9 g9 2015-16 % SR YRA

— % in total gross value added (GVA)
of India during 2015-16.

(A) 11.7 %
B) 134 %
©) 17%

(D) 18.2 %

o TR e q (ST AL ) F T %
T Qe feRaT |

(A) 11.7%
B) 134 %
©) 17%

D) 18.2%

6 %R % Tl 978 / SPACE FOR ROUGH WORK
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Which one of the following is not a major cause

e § QA ST T e AT T8 FARHE

25.
for global warming and climate change ? & e T R w3
(A) Carbon dioxide emission (A) FERIATEE e
(B) Deforestration B) Fet il Fes
(C) Methane emission (C) AT I
(D) CFC emission D) ¥ T T SedeE
26. While measuring GWP (Global Warming  26. Eaa it ORREE (GWP) % AE #
Potential), the gas which is taken as standard N =1 T fom S R 7
is— :
(A) Methane ‘ .(A) feer
(B) Nitrous oxide (B) TEH SRS
(C) Carbon dioxide (O REICEHECIERIES
(D) Sulpherhexafluoride (D) TR BRATFANIZS,
27. Biodiversity is highestin: 7. 3 Fifear qalfes R aA H R 7
(A) TundraZone A) T & ;
(B) Prairie Zone (B) e &
(C) Torrid Zone (C) eie &
(D) Tropic Zone (D) eIt &
28. Consider the following statements in Nuclear  28. TEHARR e e % e e el W
Power Reactor : frar T -

1. Uranium - 235 is used as fissile
material.

2. Graphite is used as a moderator.
3. Rods of lead are used as controller.

4.  Liquid sodium is used as coolant.
Correct statements are :

(A) 1,2and3
B) 1,2and4
(C) 2,3and4

(D) All are correct statements

1. RFEE-235 % I Feve @ &
O A EAR |

2. TR H IUEN ek % 0 H B g |

3 e R ST e R H R G |

4. ¢a Qe W swm dees % w0 A
e |

T PG

A) 1,2 @3

@) 1,2 @4

(C) 2,3 @4

D) af F

TF w1 * for 5918 / SPACE FOR ROUGH WORK
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20.

30.

31,

32.

Pt 3 @ -1 T o A R

Which one of the followmg organbreaksfatto 99
produce cholesterol ? B RAET T AT D )
(A) Intestine (A) i

(B} Liver——— —— B =
(C) Lungs (C) ¥Fer
(D) Kidney - ©) et :
Among the followmg electrolyte solutions, the 309 ﬁgﬁ SAEeE o forereat @ forg wa gH
pair of solutions having pH more than 7 is : # pH >7 3 s a2 9
(A) CH3COONH4 (aq) and @A) CH3COONH4 (aq) @

(NH,),CO; (aq) (NH,),CO, (aq)

(B) FeCl(ag)and CuSO, (aq) ' (®) FeCl(aq)® CuSO, (aq)
(C) NaCl (aq) and KCl (aq) (C) NaCl(aq) @ KCl (aq)
(D) CH,COONa(aq) and KCN(aq) @) CH,COONa(aq) % KCN(aq)
Various tribes of this state consxderthelrorlgm 31. 3 U f fafys seenfat s IGW Th
from a particular object, That objectis called : fafte o A 2 | 98 o wae 3

. (A) Gotra (A)
(B) Totem B) oRH
(C) Yorung ©) o
(D) Sarung (D). &I
Which of the folleiﬁg is the chieffestivalof 37 =g v ) S ST T =R
the Oraon tribe of this state ? | - foferiae & Q& B-a 9
(A) Bhagoria = (A) wifEr
(B) Dhumkuria B) %”W
(C) Kaksar (C) &HAR
(D) Sarhul D) wE

W %1 % ford 12 / SPACE FOR ROUGH WORK -
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33. - By which of the following name the marriage 33 freffas § @ o @ 58 U &l Sl

bylflljid‘ilction among the tribes of this state is 3 sy e R S 37
called ?
_ (A) lamsena - (A) i _
(B) Payasotur ®B) E“EW@I
(C) Duku © -
(D) Guranwat (D) e

34. For which of the following dance style the 34, Trffaa 3 A fra g S ¥ fre @ T
'Raigarh Gharana' of this state is known ? ' . , \.
TG T AT AT 87

(A) Bharat Natyam

(A) T T
(B) Kathak _ B) T
(C) Kuchipudi (C) gﬁqggﬁ
(D) Kathakali D) FEn
35. Inwhichofthe follo;’ving year Gandhiji first 35, frfafaa # & g o § meEish 3 3@ T A
’ visited this state ? _ 7oA IR g & 7
(A) 1918 ‘ (A) 1918
B) 1920 B) 1920
(C) 1925 (C) 1925
(D) 1933 ° (D) 1933
36. As per the new World Wealth Report, which 36, ‘aeg Jou RUE & FIER, URa % =1e g 3o
of the following country occupies position after 3 ST SFTE SR
India ?
(A) Japan @) SER
(B) China | ®) H
(C) France ' ' (C) %™
(D) Germany ‘ D) FHA

TF FT9 % ford 518 / SPACE FOR ROUGH WORK
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37.  Gurucharan Singh Kalkat was associated 37. TeeRvl g et fhed gt & 9
with -
(A) White Revolution (A? Sl
(B) GreenRevolution _ By & i
(C) ChipkoMovement (C) Femedl SricIe
(D) None of the above (D) W A I T
38.  Roger Federer created history by winning —  38. R %e® 7 o Sfraem zfrera it 9
(A) 21 Grand Slam (A) 219 de =M
(B) 20 Grand Slam title B) 204 ¥z =W
(C) 19 Grand Slam title (C) 19aTie @ .
(D) 18 Grand Slamtitle (D) 184 e =m
39. Mr. D.N.Sahay was Governor of 39 gﬂ'ﬂq\ glo THo UEH Tidie U h
Chhattisgarh State. T 3 |
(A) First A) T
(B) Second ®) @ .
S © AR
(D) None of the above D) Wﬁ?ﬁ F Qs
40. Who has been appointed as a Lieutenant 40, 17—@‘1 * AfFete 7w frl ﬁﬂ"m“ e Tt %?
Govemor of Delhi ?
(A) Tejendra Khanna (A), T o
B)  Vijai Kapoor B) TR
(C)  AnilBaijal (©) & Iort
(D) None of the them (D) TH A Y R &

¥ % % fordl S1g / SPACE FOR ROUGH WORK
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PART -1I (General Mental Aptitude)
AT — 11 (ST HFARIE T

4]1. Choose the correct answer : 41. T8 IW BT
Energy : Joule : : Volume : ?
et ;e xS

(A) Kilogram

2 (a) Pt
(B) Litre ®)
(C) Solid : O aa
(D) Capacity (D) &

42, Find out the wrong number from the following 42 Srrifina o ot & 9 el aich S 30N i e
number series : 3, o R
4,26, 163, 1149, 9201, 82809 4,26, 163, 1149, 9201, 82809
(A) 163 (A) 163
B) 9201 B) 9201
(C) 82809 (C) 82809
D) 26 D) 26
43.  Write the missing number from the following 43, Frg faemed 1 4 wdl foepen feb wE g
alternatives : i
1 2 3 1 2 3.

11| 7 5 1.4 7 5

120 | 45 | ? 120 ] .45, |72
(A 16 (A) 16
® 17 B) 17
() 15 (©) 15
® 19 ®) 19

T %1 % ford setg / SPACE FOR ROUGH WORK
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44. () Six friends P, Q,R, S, Tand Uare 44. (i) - 3: &% P,Q,R, S, T 3k U fieht worer

members of the club and play a different % W § 3R gz?ﬁa, fohehe, efm,
game of Football, Cricket, Tennis, kA, Jefieed 3R aiefare o
Basketball, Badminton and Volleyball. 3THT-37eT Wel Weold & |

() TwhoistallerthanPand Splaystennis. Gr—T P E?R‘S"-‘T'Tﬂ_? Mg @aare |

(if) ~ The tallestamong them plays Basketball. () S8 QT S AT S 2

@w) gﬁf shortest among them plays Volley (v) <8 QG D qTQ,ﬂqu e B

) g allcldbSa1 ?either play Volleyball nor ) %%T d LR

asketball. i N

(vi) Rplays Volleyball. (VI) R K. e ST

(vii) T isbetween Q, who plays football and (vid %ﬁﬁ@?ﬁéz e;glglp AR Q < e
P in order of height. TR iy i

Who among them pla;gs Basketball ? T I fehedlel Tt § 7

@A) R (A) R

B) S B) S

© Q ‘ G Q

) U O) U

45.  Select the diagram which illustrates the best 45. fr=fafga 9r et 1 & 9@ ey BT A
relationship among : Pigeon, Birds, Dogs, from FR, aft ﬁ 3 gl B et & —

the following four alternatives —

@A) (A)

(B)OO | (B)QO

© @ O : @ Q
®) " (D)

T % % o’ 5778 / SPACE FOR ROUGH WORK
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meters to the right. After this he continuously
turns left and every time walks 10, 5 and 10
meters respectively. How far is he from his
starting point ?

(A) 4km
B) 6km
(C) Skm

(D) Can't be determined

46. IfAmeans—,B,means+,'Cmeans+andD 46. e A FHAAT -, B wUAGAS + , C o AqA
means X, then— g +3ﬁ(DWW‘X%?ﬁ—
15B3C24A12D2="7 15B3C24A12D2="?

(A) 34 (A) 34 d
B) 2 B) 2
o 2 © >
© 3 il
®) 5 ® 5
47 Atotal of 324 Coins of 20 paisc and 25 paise ~ 47. 20 T AR 25 W % 324 o e 71 %o
make a sum of Rs. 71. The number of 25 paise TR T | Fary 25 3 % Rean s EW |
Coinsis— ' '
(A) 120
A) 120 :
124
B) 124 : ®)
©) 200 (C) 200
D) 144 (D) 144 o ‘
48. A man walks.5 meters straight and then 10 48. W.wﬁﬁ 5 Hiew WA = 2 3R I6h TG

10 Hiex grit @R =TT § | S6eh el T8 TR
areft @R gt 3 ok w10 W, 5 W I
10 T Telel | TATET e A0 TR T
feraft g R 2 |

@ 4l -» .

B) 6 &t
©) 5t )

(D) < &l T Fehal

T ® % Tl s1g / SPACE FOR ROUGH WORK
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49.

50.

There is a group of five persons K, G,H,R ~ 49. ufg =it K,G,H,R 3R I A U GH'\E%, it
and J where ‘
| ) K, GIRHI A
) K,GandHare intelligent
| @)K RAFFSF R
—tﬁj—K;RTm‘Ja—rce hardworkmg ) %
() R, HandJarehonest () R,H 3R] AER &
(v) K,G,and] are ambitious (v) K, G 3R J ggcammis &
Which of the following persons is neither hard FATET TTH W %I A & Bl TRYT wa § ok T
working nor ambitious ? 2 TEcTRieh ¥ |
(A G A) G
®B) K B) K
(€ H (C) H
®) I ® I
Choose the missing number : 50. b wm wia .
40 15 65 40 15 65
S )
10 18 8 10 18 8
25 15 28 10 27 35 25§ 15 28 10 27 ( 35
(A) 20 (A) 20
(B) 38 B) 38
() 30 ©) 30
D) 40 D) 40

T &R F fordl W71E / SPACE FOR ROUGH WORK
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PART -III (General Mathematics)
WIT — T (T 3T

51. A number when divided by 49, leaves 32 as 51. U G&AT I 99 49  frfom e S R,
remainder. Then the remainder when the same S R 32 A S 1 AR I T A Tl
—IMMMHMMMIM—WW
Eamaii
@) 3 4 B) 3
© 2 C) 2
®) 5 O 5
52. Thevalueof 310648 x 3/5832 willbe 52. 310648 x 35832 I AH BTl
(A) 396 (A) 396
B) 216 B) 216
© 432 (C) 432
(D) 576 ®) 576
53.  Find the largest number which when divided 53. o% G 9E GeH Bl 8 | 411, 684, 821
by 411, 684, 821 leaves remainder as 3,4, 5 2 ﬁﬂﬂﬁlﬂ 0 3 TR FE: 3, 4 T 5
respectively — N 2639 ' e
(A) 136 '
(A) 136
® 204 B) 204
© 254 (C) 254
D) 146 D) 146
54. A person goes to one place at a speed of 4 54. U ghh R SIH 1 4 fentlt /5@ i Ha q
km / hr and returns at a speed of 16km / hr. ST R A 16 W/wzﬁwﬁr At
The average speed of his whole journey is : B ’
' S G T S S A
(A) 4.5km/hr .
. (A) 45 Toelt/eien
B) 54km/hr B) 54 ﬁﬁiﬁ/a?l'[
(C) 6.4km/hr €) 64 freft e
@) 6km/hbr D) 6 fq;x:ﬁ/aa

% w1 % o8 5918 / SPACE FOR ROUGH WORK
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The selling price of 12 pen s equal to the cost

55. 55. 12 W w1 ReRa wwm, 20 U % AT Tl
pr.ice 0f 20 pen. Then the profit percentage TR L, &) o e 20T
will be :
@A) 40% _ : (A) =% -
®) 66% % B) 66% %
C) 55% ©) 55%
D 55 % % D) 55 % %
56. Whichpn'ncipalwill at 4% per annum simple 56. feraet gl 6 o § 4% Tt aramer o
interest for 6 years become ¥ 496 ? R WA F 496 8 S0 9
(A) 7 456 A) 7 456
B) T 500 ®B) T 500
(C) T 400 (€©) T 400
D) T 460 D) T 460
57. IfA:B=3:4andB:C=6:5,thenvalueof 57. TG A:B=3:4TMB:C=6:5,AC:AH

C:Awillbe—
A) 10:9 .
B) 9:8
© 9:10

O) 8:9

HH g

(A) 10:9
®B) 9:8
© 9:10

O) 8:9

T %1 % fordl 98 / SPACE FOR ROUGH WORK
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38.

From the given figure, the value of x willbe— 58, , fewmu e @ x T A 0 R —
A - A :
R\ " 114°
133° 133°
33° 33°
B C B C
A) 19° (A 19°
B) 23° B) 23°
(C) 15% (C) " 15°
(D) None of the above ©) S H ¥ HE T
59. Theratios of parallel sides of atrapeziumarein  5q T T 1 TR ‘ﬂ\’r@ 213 % I
the ratio 2 : 3 and the distance between them is ' ?% — e a&
12 cm. If the area of trapezium is 480 sq.cm, ' o 323 12 | . .
then the length of larger side between parallel EGUEED SRt 480 =t Aeft 2, T TR YA
sides willbe : F orwft 9o R TS Bt
(A) 36cm (A) 36 Tt
(B) 42cm - B) 429#
(C) 48cm (C) 48
(D) 56cm (D) 56 T
60. Three cubes measuring 1m, 6m and 8mare 0. 17, 6 @ 8 Hi et et 3 T i fUEere

melted and a new cube is made out of this, then
the surface area of this new cube will be - -

(A) 294m?
(B) 324m’
(C) 486m?
(D) 468 m?

T 1 T ST T B, ﬁlwﬂﬁﬂ?ﬁm

T AR B —

A) 2947
®) 324
©€) 4867
D) 468 7’

IF FF % T s91g / SPACE FOR ROUGH WORK
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PART -1V (General Knowledge of Computer)
HET — [V (FFIR T AT AHHRT)

61. Processed data of Computer is called — 61. IR FH G SAehgl FT Feendl 27
(A) ~ Input \ . (A) U
(B) Output B) FRE
(C) Process (©) wEd
D) All of the above (D) ST gl
62. The basic goal of computer process is to 62. FHR URA H JI A A Al H
convert data into — FeATE |
(A) Files (A) wER
(B) Tables (B): &t
(C.) Information (C) T
(D) Graphs ' (D) 7
63. . The most common input devices are — 63. I M e ﬂ:ﬁﬁ 2
(A)  Keyboard, Mouse (A) Keyboard, Mouse
(B)  Microphone, Speaker (B) Microphone, Speaker
(C) Digital camera, Printer (C) Digital camera, Printer
(D)  Scanner, Monitor (D)  Scanner, Monitor
64. What allows you to print on both sides of paper 64. IR F D E @I ®Y U e wA A
automatically ? .
(A) Fuser :’Eq%l;ii
(B)  Duplexer (B) Duplexer
(C) Toner (C) Toner -
(D) Paper Swapping Unit (D) Paper Swapping Unit
65. A Microsoft Windows is a/an — 65. WEHATE RH TH B |

(A) Operating System
(B) GraphicProgram
(C) Word Processor
(D) Database Program

(A) Operating System
(B) Graphic Program
(C) Word Processor
(D) Database Program

T FF % @ s1g / SPACE FOR ROUGH WORK
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74, ‘FOR R -

(A) fderees wE |

(E) WW
(C) =afchara® Tl
(D) T wEl
75. g WG T R -
(A) - FrfcE
®) wiewE
© s
(D) SE=HT
76. TH AW % T B SAAE B —
(A)-t{mfra?—r%
(B) THM G W Uler HEAT
(C) 6T

(D) WA H ekl

TF FR % ferdl WTg / SPACE FOR ROUGH WORK
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77.  ‘UeAh T B 1 g —

(A) @R gl

(B) g amr
(©) & dg e
(D) T q *E T

78. frafafga wemra srgfeat < o e A ferd
2 i aryfeH! veaH 9 g T W foh hifvg

(A) AT =T e B |

(B) AR HTET S R

() FEmHg @R

D) Waﬁﬁa@mél
79. @AW H i 1 B g -

(A) T

(B) Frar

(C) P

O) Frae

T %1 % o3 st / SPACE FOR ROUGH WORK
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81, R & B WA R
(A) dqgH
® @
© 93
(D)
g2, W wmwmmame ]
(A) A
®
(é) e

(D) HawA

T & & T 1€ / SPACE FOR ROUGH WORK
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83. ‘Wed H Vg WY H A E -~

(A) =S 9

(B) wREM
(C) Tl gl
(D) T A HE T
84. ‘T’ H Y Wl w AW —
(A) TR
(B) =M M
(C) ot wife
D) T Y HE T
85. AU A g A I W AT 7
(A) T
B) T
© w=m

{D) Wrererrereh T

% F1d % fad w18 / SPACE FOR ROUGH WORK
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PART - VI (General English)
T - VI (W SUsH)
Everest is the highest peak.

86.

(A) - The

B) A

(C) An
(D) None of the above

87. 1 am very now. Would you please

come later ?

(A) Dbusier

(B) busily

(C) busiest

(D) busy

88. Please leave your shoes the door.

(A) by
B) over
©) to

D) m

T F1 % fordl S8 / SPACE FOR ROUGH WORK
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89.

Give one word for the underlined part of the

sentence :

Your handwriting cannot be read.

R
i

:
E.
g

90.

91.

(C) unclear
(D) illegitimate

Choose the correct antonym for the word
“Remote”.

(A) Near
(B) Device
(©) Rare
@) Callous

Give one word for the given statement

A doctor who studies pathology is a—'
(A) Cardiologist

(B) Surgeon

(C) Pathologist

(D)  pediatrist

T HE % fad 518 / SPACE FOR ROUGH WORK
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92.  ‘Thebottle has been opened.’
The active voice for this sentence would be :

(A) The bottle has been opened by her.

————(B)—Semebotdehasbeenropered.—
(C) She has opened the bottle.
(D) Thebottle is opened.

93.  “Theroom was decorated in vibrant reds and
yellows’. Choose the word which is most
nearly opposite in meaning to the underlined

word in the above sentence.

(A) occasional.
(B) shabby
(C) pale
(D) dirty
94.  Find the misspelt word —
(A) Muhammad Ali
(B) disernible
(C) likable

(D) subtly

Y% %1 % ford WTg / SPACE FOR ROUGH WORK
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95.

to gas central heating will save you a
lot of money.

Find the correctly spelt word from the following
to fill in the above blank.

96.

97.

(A) ~ Conversion
(B) Convertion

(C) Convershion

- (D) Convarsion

Youusea when you are editing a text,
to show where something should be inserted .

Choose the correct word from the following to
complete the above sentence.

(A) Carat
(B) Caret
(C) Carrot
(D) Karat

Out of the four alternatives given, select the one
that can be substituted for

Putting off till another time
(A) Proliferation

(B) procrastination

(C) adulation

(D)  sublimation

TF &M & frd 918 / SPACE FOR ROUGH WORK
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98.

Select the word which is nearest in meaning to
the underlined part in the following sentence
India has made spectacular progress in science
and technology. ‘

(A) remarkable

~(B) formidable

99.

100.

(C) slow
(D)  super

Change the voice of the following sé_nte_nce ;
Some boys were helping the wounded
pedestrian. '

(A)  The wounded pedestrian was helped by
some boys.

(B) The wounded pedestrian was being
helped by some boys.

(C) The wounded pedestfian had been helped
by some boys.

(D) Thewounded pedestrian has been helped
by some boys.

An Australian said to him, “Is not your name
Sachin”,

Change the sentence into indirect sentence :

(A) AnAustralian told him is his name was
not Sachin.

(B)  An Australian asked him &at his name
was not Sachin.

(C) AnAustralian enquired whether his name

was not Sachin.

(D)  None of the above,

& %19 % {3 T2 /SPACE FOR ROUGH WORK
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I Jifhd wE w1 9N ;2 W : atfireram 3t : 100
~ Time for making-answers——2-Hours__ : __ Maximum Marks : 100

: e -

1. @ v g § 100 v ¥ 9% yW 1 % w E | W T g w0 afEd 7

2. wm (1) (i) g WewE (i) U9 % W {E 1—40, WA (2) ¥ AHids FmEdl
41-50, wmm (3) @mrg W@ 51— 60, WM (4) FFE F1 WHrE WS 61-70,
i (5) aWe R 71— 85, W (6) wmw=a ISt 86—100.

3. wwl % sW 4 ™ OMR sm-wrs (9m ¥he) m i Al

4., YOF T IR 3| 1w AEfed fRA T R A€ Mo SWofRd WA W 1/4 3% W
SIDUEN '

5. fa off o % HePac A @M W T WEEA WA B AN ¥

6. OMR I-w (Gt We) &1 T @ o0 W H13 s@Eyr T w9 e 9 %e
SR T IoR We-w fieEe ot Us W fEe woaed 9 @9 & 9o |

Notes :

This quéstion booklet contains 100 questions. Each question carries 1 mark. Answer all
questions.

This question booklet eonsists of parts namely :

Part (1) (i) General Studies (ii) General Knowledge of State 1— 40, Part (2) General Mental
Aptitude 41-50, Part (3) General Mathematics 51_—60,’ Part (4) General knowledge of
Computer 61— 70, Part (5) General Hindi 71— 85, Part (6) General English 86-100.

Indicate your answers on the OMR Answer-Sheet provided.

4. . 1 mark is allotted for each correct answer and 1/4 mark will be deducted for each wrong
~ L.Answer. ”

A

" Use of any type of calculator or log table and mobile phone is prohibited.

While using _Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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